Key to Quiz III; F4360; Spring, 2001; 1:00 Class

Short answer questions/problems (you should be able to answer these in a sentence or two at most).

Use the following information to answer questions 1 through 4

Then There Were Three Inc. has decided to use $15,000,000 of surplus cash to repurchase shares at $75 per share.  Prior to the repurchase, Then has one million outstanding shares worth $45 each.  

Current stockholders are:  Colby:  350,000; Tina:  250,000; Keith:  200,000; Elizabeth:  150,000; Rodger:  50,000 

1.  What is Then’s value per share after the repurchase?  
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2.  If Then repurchases shares via a tender offer and everyone acts in their own best interest, how many shares will Colby be able to sell back to the firm?  
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3.  Assume Then repurchases shares using transferable put rights by issuing one put right for each outstanding share.  What will each put be worth?  
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4.  Assume Then repurchases shares using transferable put rights.  Calculate Colby’s wealth after the repurchase?

15,750,000 = 350,000*45 (wealth doesn’t change)

5.  List (but do not discuss), three of the reasons we discussed in class that firms might repurchase shares.  Three of:  dispose of excess cash, change capital structure, get rid of nuisance stockholders, believe undervalued.

6.  Under the current tax code, dividends are taxed at a higher rate than capital gains.  Assume a firm needs all of the cash it generates from operations to undertake positive NPV projects.  What preferences will stockholders have for this firm with respect to dividends? prefer firm pay no dividends

7.  What aspect of the U.S. Personal Tax code might lead investors to bid away any higher pre-tax returns offered by high dividend stocks?  Some parts of the tax code allow for tax-free dividends (like 401k and IRA).

8.  How does a regular dividend differ from a liquidating dividend?  Regular dividend is dividend that firm expects to continue to pay while a liquidating dividend is a one-time dividend to liquidate the firm.

9.  The signaling theory of dividends is driven by an underlying assumption about what management considers when setting the current dividend level.  What 3 things do management consider when setting current dividends?  most recent dividend, current earnings, expectations about future earnings.

10.  Assume perfect capital markets, homogenous investor expectations, optimally fixed investments, and that firms have no surplus cash.  What is the net impact on the firm of paying out an additional $250,000 of cash in the form of dividends?  None.  Raises the $250,000 by issuing securities.
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